Efficiency vs P,

+0.02F T T
2 F : : :
%0018:— """""" """""" """"""

o 21 B

ED.014I—---+------§ ------------ s T
CIJ0.012;—--{ ----- H ------------ ------------ ............

0.00F kel FETEPPPRRREE s
0.008F v i S .
0.006f - iermeeerees S S
0.004F--- J-f+++++; ------------ ------------ ............

0.002F F-oererrireeeninenn R e
q:_...'..'.!.'.'.".':...'...'.'.'.'.'.'.':....'..'..'.'.'.'.".:....'..'..'.'.'.'!'

107 1 10 prT (Ge\})o3

—— DQM_CKF_TThar
—— DQM_mKkFit_TThar

—+— DQM_mkFit_TTbar-newTr2

N A v e 1 |
| 5 }éﬁtﬁhﬁ?ﬁ# +H++§+ i

++ b !
-3 -2 -1 0 1 2

i

Efficiency vs ¢

o0.02

Bl
el i
=R

Qe b b

Ratio

STV S Hoo

023210 T2 3
TP @




	Contents
	Page 1


